Problem 1 (20 points)
Use power series to evaluate the function at the given point:

XZ
In(cosx) + e at x=0.01
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Problem 2 (30 points)
a) (15 points) Simplify:

L V1+iy3
= :ozfi’ V2 -6

(in case you don’t remember - tan™ (\/5 )= t/3)
b) (15 points) Calculate: Arccos (-5/4) (find all possible answers)
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Problem 3 (15 points)
Express the following integral as a B function and then as a combination of I'" functions:

ljx% a- 3\/;)% dx.

Find the exact answer for this integral using 1“(5) =r.
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Problem 4 (35 points)

Given f{x) =x-x" for 0<x<I, sketch the even periodic function f,(x) and the odd periodic
functions f;(x) of period 2, each of which equals f{x) on 0<x<I. Expand f;(x) in a cosine

series, and f;(x) in a sine series.
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